
Les droites graduées
CORRECTION 1

A = 5 B = 13 C = 28 D = 34

Les droites graduées
CORRECTION 2

A = 2 B = 15 C = 22 D = 35

Les droites graduées
CORRECTION 3

A = 62 B = 75 C = 82 D = 90

Les droites graduées
CORRECTION 4

A = 185 B = 200 C = 202 D = 214

Les droites graduées
CORRECTION 5

A = 20 B = 150 C = 220 D = 350
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Les droites graduées
CORRECTION 6

A = 130 B = 160 C = 350 D = 370

Les droites graduées
CORRECTION 7

A = 620 B = 750 C = 820 D = 900

Les droites graduées
CORRECTION 8

A = 300 B = 450 C = 470 D = 620

Les droites graduées
CORRECTION 9

A = 1 700 B = 1 750 C = 1 820 D = 1 940

Les droites graduées
CORRECTION 10

A = 1 300 B = 2 600 C = 3 500 D = 3 700
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Les droites graduées
CORRECTION 11

A = 500 B = 2 200 C = 3 000 D = 3 400

Les droites graduées
CORRECTION 12

A = 6 000 B = 6 500 C = 7 200 D = 8 400

Les droites graduées
CORRECTION 13

A = 6 500 B = 8 000 C = 9 000 D =10 200

Les droites graduées
CORRECTION 14

A = 20 B = 50 C = 70 D = 94

Les droites graduées
CORRECTION 15

A = 850 B = 925 C = 1 000 D = 1 025
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Les droites graduées
CORRECTION 16

A = 40 000 B = 55 000 C = 70 000 D = 77 000

Les droites graduées
CORRECTION 17

A =
3

B =
4

 ou 2 C =
5

D =
7

2 2 2 2

Les droites graduées
CORRECTION 18

A =
3

B =
5

C =
7

D =
8

 ou 2
4 4 4 4

Les droites graduées
CORRECTION 19

A =
2

B =
4

 C =
6

 ou 2 D =
7

3 3 3 3
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Les droites graduées
CORRECTION 20

A =
5

B =
20

 ou 2 C =
22

D =
34
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Les droites graduées
CORRECTION 21

A =
2

B =
8

 C =
15

D =
30

 ou 3
10 10 10 10

Les droites graduées
CORRECTION 22

A =
6

B =
15

 C =
28

D =
37

10 10 10 10

Les droites graduées
CORRECTION 23

A =
52

58
58

C =
65

D =
80

 ou 8
10 10 10 10
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Les droites graduées
CORRECTION 24

A =
150

ou 15 B =
155

 C =
162

D =
175
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Les droites graduées
CORRECTION 25

A = 1,5 B = 2 (2,0) C = 2,5 D = 3,5

Les droites graduées
CORRECTION 26

A = 0,8 B =1,3 C = 2,8 D =3 (3,0)

Les droites graduées
CORRECTION 27

A = 0,5 B =2,2 C = 3,4 D = 3,5
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Les droites graduées
CORRECTION 28

A = 10,5 B = 11,8 C = 12,5 D = 13 (13,0)

Les droites graduées
CORRECTION 29

A = 24,2 B = 25,5 C = 26,5 D = 27,7

Les droites graduées
CORRECTION 30

A = 31,05 B = 31,2 C = 31,25 D = 31,3
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